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Use the array provided to solve each problem.

1) 69×52 =

60

50

9

(60 × 50)
3,000

(9 × 50)
450

(9 × 2)
18

2

(60 × 2)
120

2) 37×29 =

30

20

7

(30 × 20)
600

(7 × 20)
140

(7 × 9)
63

9

(30 × 9)
270

3) 33×24 =

30

20

3

(30 × 20)
600

(3 × 20)
60

(3 × 4)
12

4

(30 × 4)
120

4) 34×48 =

30

40

4

(30 × 40)
1,200

(4 × 40)
160

(4 × 8)
32

8

(30 × 8)
240

5) 42×27 =

40

20

2

(40 × 20)
800

(2 × 20)
40

(2 × 7)
14

7

(40 × 7)
280

6) 44×42 =

40

40

4

(40 × 40)
1,600

(4 × 40)
160

(4 × 2)
8

2

(40 × 2)
80

Answers

1. 3,588

2. 1,073

3. 792

4. 1,632

5. 1,134

6. 1,848
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